Appendix A, Figure 1

Calculation of Manufacturer X’s target fuel economy standard

(Manufacturer’s Domestic Passenger Automobile Production for Applicable Model Year)
/ ((Group 1a Volume / Group la Target) + ((Group 1b Volume / Group 1b Target) + ... +
(Group 9 Volume / Group 9 Target)) =

27500/ (900/35.01 + 600/35.14 + 2000/35.14 + 2000/35.08 + 1000/34.95 + 3000/35.81 +

4000/30.19 + 4000/30.33 + 2000/29.99 + 5000/25.52 + 3000/29.76) = 31.6

Manufacturer's Domestic Passenger Automobile Production for Applicable Model Year

Groupla Grouplb Group2 Group3 Group7 Group8 Group9

Volume Volume Volume + Volume ~ Volume + Volume + Volume

Groupla Grouplb Group2 Group3 Group7 Group8 Group9

Target Target Target  Target Target  Target  Target
27,500

900 600 2000 2000 1000 3000 4000 4000 2000 5000 3000
+ + + + + + + + + +
35.27 3540 3540 3535 35.21 36.12 30.40 30.55 30.18 29.71 29.93

Fleet’s target fuel economy standard = 31.6 mpg



